K73-17M

MUHWUATIOPHbIE METANJOMJIEHOYHbIE
NONMUITUNEHTEPE®TAJIATHBIE KOHOEHCATOPDI

MINIATURE METALLIZED POLYESTER FILM CAPACITORS

TexHuyeckue ycnosusa: PAALL.673633.005 TY

npe,D,Ha3Ha‘-leHbl Aans

pabotbl B

Lensx

NOCTOAHHOIO, nepemMmeHHOro, nynbcupyroLiero
TOKOB U B UMNYINbCHbIX peXumax.

KoHCTpYKLMSA: OKyKIEHHBIE.

l6+4

H max

HomunHanbHasi eMKoCTb
HomMuHanbHoe HanpsihxeHne

(B HTepBane Temneparyp

-60°C ...+85°C)

[onyckaemoe OTKIMOHEHUE EMKOCTU

TaHreHc yrna notepb npu f = 1My

ConpoTuBneHNe N3onaumm ans
Chom < 0,33 Mk®

[NocTosiHHas BpemMeHun ana
CHom > 0,33 Mk®

WHTepsan pabounx TemnepaTyp
ansa Unom =400 B
ons Unom = 630 B

IlameHeHne eMKoCTU B uHTEpBane
MONOXUTENbHLIX TemnepaTyp

ansa Unom =400 B

ons Unom = 630 B

HapaboTtka

Cpok cCoxpaHsemMmocTun

Knumatuyeckoe ncnonHeHune

»|

3 max

L max

A

0,0047 .... 0,47 mk®

400; 630* B

15; £10; £20 %

<0,008

230 000 MOwm

210 000 MOM-MKD

-60...+125°C
-60...+85°C
<18%

< (+10% ... -2%)

15000 4

12 net

YXI1 (93+3% oTHOCKT.
BNaXXHOCTU Npw
40+2°C, 21 cyTkm)

* KoHgeHcaTtopbl Ha Unom=630 B gonyckaloT KpaTkoBpeMeHHoe
(no 10 c, cymmapHO < 2 MWH) BO3[eWCTBME NEPEMEHHOrO

HanpsbkeHns 1500 Badbd npu 50 IMu.

O6o3HauyeHue nNpu 3aKkase:

KongeHcatop K73-17M - 400 B - 0,1 Mk® £10% -

- NeTY

Specifications: PAAL|.673633.005 TY

Designed to operate in DC, AC and ripple
current circuits and in pulse mode.

Design: dipped.

'l
J

B max |

Rated capacitance
Rated voltage
(temperature range
-60°C...+85°C)
Capacitance tolerance

Dissipation factor at f = 1 kHz

Insulation resistance at
Cr=<0,33 yF

Time constant at
Cr>0,33 yF

Operating temperature range
at Ur =400V
atUr=630V

Capacitance change within

positive temperature range
atUr=400V
atUr=630V

Operating time

Shelf life

Climatic categories

0,0047 .... 0,47 uF

400; 630* V

+5; £10; £20 %

<0,008

230 000 MOhm

210 000 MOhm-uF

-60...+125°C
-60...+85°C
<18%

< (+10% ... -2%)

15 000 hours

12 years

RH 93+3%,
40+2°C, 21 days

* Capacitors with Ur = 630 V are tolerated to short-term
(over 10 s, overall not more than 2 minutes) action of AC

1500 Veff, 50 Hz.

Ordering example:

Capacitor K73-17M - 400 V - 0,1 yF £10% -

- NeTY
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Ciious MK®D Uiow, B Lmax, Brmax, Hmax, A, d, lnlzc;ia, r
C., uF U,V mm mm mm mm mm max, g
0.022 12 5 10 0.6 1.4
0.033 12 6 10 0.6 1.6
0.047 12 6 11 10 0.6 2.0
0.068 12 6 14 0.6 25
0.10 400 12 7 15 0.6 3.0
0.15 15.5 4 12 14 0.6 3.5
0.22 18 7 14 15 0.8 4.0
0.33 18 8 16 0.8 5.0
0.47 23 8 18 20 0.8 5.5
0.0047 630 10 6 9 8 0.6 5.0
0.01 18 6 9 16.5 0.6 5.5

3aBncnmocTb gonyckaemoro HanpsbkeHus U, oT TemnepaTypbl okpyxatowen cpegpl ans U... = 400 B

Permissible voltage U, as a function of ambient temperature (U, = 400 V)
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3aBnCMMOCTb JOMYyCKaeMoWn aMnnnTyabl MEPEMEHHOrO CUMHYCOMOANBHOMO HaNPSXKeHWsa UM aMnAuTydbl
nepemMeHHON CUHyconaanbHOW COCTaBnsoLWen nynbcupytoLero HanpsxxeHmsa U oT yactoTsl f.

Permissible amplitude of AC sinusoidal voltage or amplitude of AC sinusoidal component of ripple voltage

1 - gna U,..= 400B
2 - ana U,.,= 630B.

Uras a function of frequency f

100

%

90 \
80

70

60 \~ \\

Us 50
Unom (Ut) N\
40
30 N S
N NG
20 Su
\..
10 N~ ~
Tl \\5.
0
1 2 3 4 5
10 10 10 10 My 10

Mpumep onpepenenuns U 1-U. =400V

JaHo: f=4-10* 'y, U,.,=400 B 2-U =630V

Haxogum: U=2,5% ot 400 B=10 B

Example of calculation of Us:

Given: f=4-10* Hz , U,=400 V
Finding: U=2,5% of 400 V=10 V
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3aBuCMMOCTb OonyckaemMoro paaMaxa UMnyfbCHOro HanpsaXxeHua AU, OT YacToTbl criegoBaHns
nMnynbcoB F,, ANUTENBLHOCTU HAUMEHBbLLErO 13 BpEeMEHHbIX y4acTKoB Ty, COOTBETCTBYIOLLMX (prHTy To
unu cnagy T. umnynbeca

Permissible peak-to-peak pulse voltage AU, as a function of pulse repetition frequency F,, minimal
temporal sector T,, corresponding pulse leading edge slope T, or pulse trailing edge slope T.
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Mpumep onpenenexus AU, : Example of calculation of AU, :
[aHo: Given:
Fu =105 T, Tpe=10° ¢, U= Unow Fu=10°Hz, Tpo=10°s, U = U
Haxogum: Finding:
AU, =21% 0T400 B =8,4B AU, =2,1% 01400V =84V

MpeaenbHO Aonyckaemble amnnuTyaa UMnynbcHoro Toka I, 1 ckopocTb nameHeHus HanpspkeHua dU/dt

Maximum permissible amplitude of pulse current I, and rate of the voltage change dU/dt

U.ow, B Ciomy MKD I, max, du/dt, max,
rnV C., uF A Vius
0,022...0,1 0,55...2,5 25
400 0,15...0,33 2,15..4,7 14,3
0,47 6,1 13
630 0,0047...0,01 0,24...0,5 50
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